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Determining Reasonable Answer Name:
Determineif the answer shown isreasonable (yes) or not (no). Answers
s A
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1
» Anything times5 HAS to end in an either a5 or a0. Ex. 5x4=20 5x15=75 2.
» Anything times 10 HAStoend in a0. Ex. 10x7=70 10x16=160 3.
\_ /
4,
1) 341x5=1,705 2) 768 x 10=7,680
5.
3) 10x 166 = 1,660 4) 2x126=253 6.
7.
5 2x130=261 6) 2x692=1,385
8.
7) 268 x5=1,340 8) 10x535=5,355 9.
10.
9) 5x631=23157 10) 404 x 2=2809
11.
11) 173 % 2= 346 12) 3094 x 5= 1,970 =
13.
13) 609 x 2=1,218 14) 2x660=1,320 1
15.
15) 814 x 10=8,147 16) 536 x2=1,072
16.
17) 10x 706 = 7,061 18) 10 x 906 = 9,065 17.
18.
19) 608 x 5=3,044 20) 106 x 10 = 1,060
19.
20.
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Determining Reasonable Answer Name. Answer Key
Determineif the answer shown isreasonable (yes) or not (no). Answers
4 )
» Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2x6=12 2x13=26 1 YES
* Anything times 5 HAS to end in an either a5 or a 0. Ex. 5x4=20 5x15=75 2. YES
« Anything times 10 HAS to end in a 0. Ex. 10x7=70 10x 16=160 3. YES
L j
4, no
1) 341x5=1,705 2) 768 x 10=7,680
5. no
3) 10x 166 = 1,660 4) 2x126=253 6. no
7. YES
5 2x130=261 6) 2x692=1,385
8. no
7) 268x5=1,340 8) 10x 535=5355 9. no
10. no
9) 5x631=23157 10) 404 x 2=2809
11. YES
es
11) 173x2=346 12) 394x 5=1,970 Y
13. YES
13) 609 x2=1,218 14) 2x660=1,320 1 yes
15. no
15) 814 x 10 = 8,147 16) 536 x2=1,072
16. YES
17) 10x 706 = 7,061 18) 10 x 906 = 9,065 17. no
18. no
19) 608 x 5=3,044 20) 106 x 10 = 1,060
19. no
20. YES
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